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hew is Rajya Sabha dissolved ?

After 6 years
ter 5 years
1INg emergency

(D) NeveNdissolved

The capital of Shingji was :
(A Raigarh (B) Singhgarh
(C) Satara Pune
Science Day is celebrated on :

&) 28 February  (B)

(C) 227 April D)

Polio vaccine was first developed by :
(A) Jonas Salk (B) Albert Sabin

(C) ThomasFrancis (D) Watson Hophes

The missing term in the series 420, 84, 21, 7

If FRIEND is coded as HUMJTK, how is
CANDLE written in that code :
/

(4) EDRIRL /' (B) DCQHQK
7
(C) ESJFME / (D) DEQJQM

There are £ix persons A, B, C, D, Eand F. Cis
the sistefof F. B is the brother of E’s husband.
Disth¢/father of A and grandfather of ¥. There
are tyo fathers, three brothers and a mother in
oup. Who is mother ?

A ® B (¢ C (D E
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(A) 69495
(B) 594 91
(C) WhmpdH

(D) it e

28 HE (B) 21T

/(C) 22 314 (D) 2273 ®

ifera) #1 e wem aR o2 famfaa fawan
(A) 9 9IeR (B) e g
(C) o8 wirad (D) T REATH

w1 fiod Tg FM A 420, 84,21,7_2 , 3.5

(A) EDRIRL
(C) ESJFME

(B) DCQHQK
) DEQJQM

T AT PR ?
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Find the word which best expresses the meaning
of the word ‘DEGRADING’.

Demeaning (B) Lowering

(D) Minimizing
9, Find the correctly spelt wo
(A) Calandar ®)

(C) Calendar D)

10. Write antonym of ‘F

thright (D) Genuine
11. Main function of shared memory is :
(A) to use primary memory efficiently
(B) to dointra process communication
(C) to do inter process communication
(D) None of the above

12, The main memory is and secondary

storage is

(A) Temporary, permanent
(B) Permanent, temporary
(C) Slow, fast

(D) None of the above

13. Actual execution of instruction in a computer
takes place in :

(A) ALU
(B) Control Unit
(C) Storage Unit

(D) None of the above
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11.

12,

18.

‘DEGRADING’ T & 4 e I

Lowering

Minimizing

(A) Calandar ®B)
(Cy Calendar D)

(A)
(C) Forthright (D)

ar wfa = gen v R

@ it W FaeEgEs I F3 ¥ fag
(B) 3T WiFEW WER FA % fag

(© 3 ufFw d9r F0 % foau

(D) T ¥ F W

ek L i T HH-ot T
T B

(A) I, T

B) TIE, TR

(€) i, o9

D) T A ="

wrget § Al = arfas daert Frey § 3 fem &
B 82

@) uwuEy

®) e

(€ HeE THE

(D) T Q= @ .



14.

16.

16.

17.

18.

Disk scheduling includes deciding :
(A) which should be accessed next

(B) order in which disk access requests must
be serviced

(C) the physical location of the file

(D) the logical location of the file

Memory protection is normally done by :

(A) the processor and the associated hardware
(B) the operating system

(C) the compiler

(D) the user program

Which of the following is not hardware ?
(A) Magnetic tape (B) Printer
(C) VDU terminal (D) Assembler
Dirty bit is used to show :

(A) Page with corrupted data

(B) Wrbng page in memory

(C) Page that is modified after being loaded
in the cache memory

(D) Page that is less frequently accessed

Which among following scheduling algorithms
give minimum average waiting time ?

(A) FCFS (B) SJF

() Round robin (D) On priority
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(C) TR
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19.

20.

21.

22,

23.

24.

The process of retaining data for future use is

called :
(A) reading (B) writing
(C) storing (D) coding

In real time OS, which is most suitable
scheduling scheme ?

(A) round robin
B) FCFS
(C) pre-emptive scheduling

(D) random scheduling

One byte equals to how many bits ?
(A) 4 Dbits (B) 8bits
(C) 12 bits (D) 16 Dbits

Which of the following is not a class based on
size ?

(A) Mainframe Computer
(B) Micro Computer
(C) Mini Computer

(D) Digital Computer

Which among following can be considered as
most advanced ROM ?

(A) DRAM (B)
(€) RAM D)

EEPROM
PROM

The errors that can be pointed out by the
compiler are :

(A) Syntax errors

(B) Semantic errors
(C) Logical errors

(D) None of the above
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25.

26.

21.

28.

29.

30.

Cis:

(A) Anassembly language

(B) A third generation high level language
(C) A machine language

(D) None of the above

1GB =

(A) 1024 bytes

(B) 1024x1024 bytes

(C) 1024x1024x 1024 bytes

M) 1024 1024 x 1024 X 1024 bytes

1 nibble =

(A) 1bits (B) 2bits
(C) 4bits (D) 8bits
Full form of ASCII :

(A) American Stable Code for International
Interchange

(B) American Standard Case for Institutional
Interchange

(C) American Standard Code for Information
Interchange

(D) American Standard Code for Interchange
Information

The 2’s complement of binary 1000 is :

(A) o111 (B) o101

(C) 1000 (D) o001

The gate is also called any - or - all
gate.

(A) OR (B) AND

(¢) NoOT (D) EX-OR
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25.

26.

217.
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ce:

(A) HYTSEH AT

B) T NG H I W B 9
(C) Wi W

(D) TH AHE T

1GB =

(A) 1024 5<H

(B) 1024x 1024 9g<H
(C) 1024x 1024 x 1024 915<H

(D) 1024x 1024 x 1024 x 1024 9ZZH

1 e =

a) 1fazm ® 2f5m
(C) 4faed (D) sfazm
ASCII HFI QU AT & :

(4) AT Rad FIs B TS 38Ed
(B) AT Wed FH TR TEIq 2=
(C) ST Weg T TR TR FeGs
D) SR e e i o

AT 1000 FT 2's FIIFETH §

(4) olll (B) o101
(C) 1looo - (D) 0001
H1E a1 9ot Fee aen T R

(A) OR (By AND
(C) NOT (D) EX-OR

P.T.O.



31.

32

33.

34.

35.

36.

An X-OR gate produces an output 1 only when
it’s two inputs are ;

Ay 1 B o0
(C) different (D) same

Which logic gate produces following truth
table ?

A|B{ Output

010 0

01 1

110 1

1|1 1

(A) X-NOR (B) OR

(©) AND (D) NAND

In Boolean algebra, A+ A=

A A ® 1

© o (D) None of these
My + M=

A 0 B) 1
) 2 (D) None of these

Subtract binary 1010 from 1100 and answer in
binary is :
4 -11 B) -10

(G 10 O 1

I/0 processor has direct access to :
(A) Main Memory

(B) Secondary Memory

(C) Flash Memory

(D) ROM
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X-ORTR 1R MR F ATEE:
Ay 1 B o0
(C) SAT-3em D) A

F W e M2 f1er 9 aRol 303 HFEE?

A|B| am=seye

olo 0

ol1 1

10 1

1|1 1

(A) X-NOR B) OR

(C) AND (D) NAND
T TN W, A+ A= .

A A B) 1

© o O) T AHE T
D+ M=

A o B 1

© 2 (D) T AR T
TR 1100 § | 1010 B TRA WIRTI H FTWE :
@ -11 B) -10

(C) 10 O 11

1/0 &R o diur g

@) =

(B) wreafsE wyfa

() wfregfa
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37.

38.

39.

40.

41.

Execution of two or more programs by a single
CPUis known as :

(A) Multiprocessing
(B) Time sharing
(C) Multiprogramming

(D) None of the above

A bootstrapis:
(A) a memory device
(B) a device to support the computer

(C) asmall initialisation program to start up
a computer

(D) an error correction technique

An operating system :

(A) 1is not required on large computers
(B) is always supplied with the computer
(C) isalways supplied with the BASIC

(D) consists of programs that help in the
operation of computer

How we can make directory using command on
command prompt in windows ?

(A) mk 3B) mkdir

) md D) mdir

Which bar appears at the bottom of the screen
just after booting of the computer ?

(A) Title Bar (B) Status Bar

(C) TaskBar (D) Tool Bar
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K
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D) T A+ T

i ¥
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T Arfen fowen -
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(A mk B)
(C) md D)

mkdir
mdir
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42,

43.

44.

45.

46.

47.

48.

Full form of FAT is :

(4) Field Allocation Table
(B) File Allocation Table
(C) Field Access Table

(D) File Allocation Tool

Which key should be pressed to select two or
more than two files ?

a) Ctrl B) Alt
(C) Shift (D) Tab

The main page of web site is called :
(A) First page (B)
(C) Home page (D)

Important page

None of these

When you transfer a file from your computer to
another computer, server 1s called :

(4) Downloading (B) Navigation

(C) Surfing (D) Uploading
Which of the following may be sent as e-mail ?
(A) Picture (B) Text

(C) Movie (D) All of the above

A person who breaks website password is
called :

(A) Thief (B) Tracker

(C) User (D) Hacker
Protocol is the group of ;

(A) Information (B) Files

(C) Rules (D) Instructions

21-Computer Application
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49.

50.

51.

52.

53.

54.

Where the result of an arithmetic and logical
operation are stored ?

(A) In Accumulator

(B) In Cache Memory

(C©) InROM

(D) In Instruction Registry

Which determines the address of I/O interface ?
A)
©

Register select  (B) Chip select

Both of above (D) None of above

Whenever CPU detects an interrupt, what it do
with current state ?

(A) Saveit

(B) Discardit

(C) Depends system to system
(D) First finish it

A web page 1s located using a :

(A) Universal Record Linking
(B) Uniform Resource Locator
(C) Universal Record Locator
(D) Uniformly Reachable Links

HTML tag to make a text bold is :
(B)
D)

(4)
©

<h> <bold>

<bb> <bld>

To create a blank line in web page :

(A) press Enter two times
(B) press Shift+Enter

(C) insert <BR>tag

(D) 1insert <BLINE> tag
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A) (B)
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55. How will MS Word will respond in repeated | 55. o2 % 21207 W MS Word FA Fa_ e &2
word ?
(A) T IR T F A A AT A
(B) A Green wavy line under the repeated (B) T A VR F 2 70 7

word ©) e A v F Y e wii YEi
(C) ABlue wavy line under the repeated word i
(D) ¥ Q = TE

(A) A Red wavy line under the repeated word

(D) None of the above

56. S W EeR A4 % fog feam vl 9l ?
56. Using the ribbon where should you go to activate

the ruler on document ? (A) View >> Toolbars
(A} View >>Toolbars (B} File >> Open

(B) TFile >> Open (C) View >> Ruler

(C) View >> Ruler (D) Insert >> Reference

(D) Insert >> Reference

57. Bold, Italic, Regular Fgamd € :

57. Bold, Italic, Regular are known as : (A) THiT WA (B) R 'sﬁﬁ{ﬂ
(A) font styles (B) font effects () U (D) TR TFRE
(C) word art (D) text effects

68. Superscript, subscript FEAR § :
(A) Wie wWEA (B) ic ThRH
© w8E (D) FETHIH

58. Superscript, subscript are known as :
(A) font styles B) font effects -
(C) word art (D) text effects

59. F1 % %M A ot et
59. The Key F1 is used for :

A) WES

(A) Find @

(B) Help ®

(C) Spelling and Grammar (C) wAfewt g3 M

(D)  Replace (D) f=w
60. Short cut key for center align is : 60. TR IEMEAR M Fc T T

@A) Ctrl+C B) Ctrl+D A) Ctrl+C (B) Ctrl+D

(C) Ctrl+E (D) Ctrl+False €) Cul+E (D) Ctrl+False
21-Computer Application 12




61.

62.

63.

64.

65.

66.

67.

A relational database consists of a collection of :

{A) Tables (B) Fields

(C) Records (D) Keys

The term is used to refer to a row.
(A) Attribute (B) Tuple

() Field (D) Instance

The tuples of the relations can be of
order.

Gy
©

Any Same

B)

Sorted (D) Constant

Which one of the following is a set of one or more
attributes taken collectively to uniquely identify
a record ?

GY)
©

Candidate key (B)

D)

Sub key
Super key Foreign key

Consider attributes ID, CITY and NAME, Which
one of this can be considered as a super key ?

NAME (B) ID
CITY Dy CITY,ID

GV
©

A attribute in a relation is a foreign key if the
key from one relation is used as an
attribute in that relation. '

B)
D)

A
©

Cand:idate Primary

Super Sub

level is where the model becomes
compatible executable code :

4)
B)
©
@)

Abstract level
Application level
Implementation level

All of the above
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el
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)
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68.

69.

70.

To represent hierarchical relationship between
elements, which data structure is suitable ?

() Dequeue
(B) Priority
(C) Tree

(D) Graph

Which of the following data structure is non
linear type ?

4)
©

Strings (B) Lists

Stacks (D) Graph

Which data structure is used in breadth first
search of a graph to hold nodes ?

(A) Stack (B)
©) 0]

Queue

Tree Array

-alo-

21-Computer Application

14

68.

69.

70.

@ & &t YERERTEE g9y % afafiiye w0 %
for, ® T Se1 a9 7

B
et

Bk
e

(A)
(B)
©
D

e § 9 F59 W T o= R-as TR 22
g Exll

= M

A)
©)

(B)
49

g F T & foag s w1 et @ F g wA

{A T HEA F 3G foman S € 2

A « (B) R

(€ 3o (D) woft
-00o-




SPACE FOR ROUGH WORK / & &1 & ffa s

21-Computer Application 15 P.T.O.




SPACE FOR ROUGH WORK / T& &1 & foll svg

21-Computer Application 16



